The Vision

L B nl

Nt}

a8
SRS

BOOKLET NO. Gl

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
AG : 16/P/TT w : : - TEST BOOKLET SERIES

SESSION : AFTERNOON

APTITUDE TEST
' PAPER II

Time Allowed : 2 Hdurs] ; ; [Maximum Marks : 200

INSTRUCTIONS :
1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU
SHOULD CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED
OR TORN OR MISSING PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY
A COMPLETE TEST BOOKLET.
2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE
- MAY BE IN THE APPROPRIATE PLACE.

3 You have to enter your Roll Number on the Test Booklet
in the Box provided alongside. DO NOT write anything else l [ 050 45.
on the Test Booklet:
4, This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and

English except for Questions relating to English Language Comprehension which are in &
English only. Each item comprises four responses (answers). You will select the response &=
which you want to mark on the Answer Sheet. In case you feel that there is more than
one correct response, mark the response which you con51der the best. In -any case, choose
* ONLY ONE response for each item. /
- You have to mark all your responses ONLY on the separate Answer Sheet provided.
All items carry equal marks. ;
Before you proceed to mark in the Answer Sheet the response “to various items in the -
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
- - sent to you ‘with your Admission Certificate. ;
8. After you have completed filling in all your responses on the Answer Sheet and the examination
- has concluded, you should hand over to the Invigilator only the Answer Sheet. You are
permitted to take away with you the Test Booklet.
9. Sheets for rough work are appended in the Test Book]et at the end.
10..  Penalty for wrong Answers :
- THERE WILL BE PENALTY (NEGATIVE MARKING) FOR WRONG ANSWERS
. MARKED BY A CANDIDATE IN THE OBJECTIVE TYPE QUESTION PAPERS.

@) There are four alternatives for the answers to every question. For each question
for which a wrong answer has been given by the candidate, one third of the marks
assigned to that question will be deducted as penalty.

@) If a candidate gives more ‘than one answer, it will be treated as a wrong answer
even if one of the given answer happen to be correct and there will be same penalty
as above for that question.

@) If a question is left blank i.e. no answer is given by the candidate, there will be
.no penalty for that question.

11. In case of any discrepancy found in English and Hindi Version in this paper, the Enghsh

Version may be treated-as correct and final.

- DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

Note : Hindi version of the instructions is printed on fthe back cover of this Booklet.

&7 g ¢ e # RS TR 3 gfie & fed T W osw R
' 1

So¥on

P.T.O.



The Vision

Aptitude Test

Paper_ I1

~ Duration : 2 Hours]

Directions (Q. Nos. 1 to 8) : ,

Read the passage carefully and
attempt Question Nos, 1 to 8 by

choosing the most appropriate

option :

I worked with tribal children in
Chhattisgarh, in a single teacher
school where a large ‘hut was
partitioned with gunny bégs into
five classes. It was naturally chaotic
and noisy. The teacher resorted to
the stick to maintain discipline. It
was impossible to do much inside the
classroom so I decided to take my

class—std. V students—outside. |

Once outside, the students were
completely transformed. They were
like free birds, chattering, singing,

jumping and dancing. They led me

to a pond, showed me different types
of insects and weeds. They rattled
off different characteristics of each

~insect, how and why they breed,
their changing habitat and what the

village folks do with them. I was
amazed at how much they knew. The
children were excellent at a catching
- fish and made a fishing contraption

- out of nothing. Some children

AG : 16/PII—A

b

[Marks : 200

‘showed me how to weave a basket_
" . out of the reeds nearby. They knew

exactly when the sal and palash
bloom, what part of a plant is edible,
what part of a tree is used for
stomach upsets, they recognized -
different bird and animal calls and
that a profusion of a particular
insect meant that train is around the
corner. I became painfully aware of

my own ignorance.

However, the next -day‘ we were
confined to the classroom due to
rains. So I began with a lesson in
geography. To my dismay, the bright
active students who knew so much
about the contours of their local
geography the flora and fauna
around, were totally at a loss with
the textbook.

Students ........... the Geography
textbook. e

(A) had complete control over

were at a loss with

(C) were hostile to

(D) were indifferent to
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I worked with tribal children in
Chha.ttisgai'h, in a single teacher
school where a large hut was
partitioned with gﬁnny bags into

five classes. It was naturally chaotic

and noisy. The teacher resorted to -

' the stick to maintain discipline. It
was impossible to do much inside the
classroom so I decided to take my
class—std. V students—outside.
Once outside, the students were

completely transformed. They were

like free birds, chattering, singing, -

jumping and dancing. They led me
to a pond, showed me different types
of insects and weeds. They rattled

off different characteristics of each

insect, how and why they breed,
their changing habitat and what the
village folks do with them. I was

amazed at how much they knew. The

children were excellent at a catching 3

fish and made a fishing contraption

out of nothing. Some children |
AG : 16/P/TI—A |

“out of the reeds nearby. They knew

exactly when the sal and palash
bloom, what part of a plant is edible,
what part of a tree is used for
stomach ﬁpsets,. they recognized
different bird and animal cal'lé and
that a profusion of a particular
insect meant that train is around the
corner. I became painfully aware of

my own ignorance. :

However, .the next day we were
confined to the classroom due to

- rains. So I began with a lesson in

geography. To my dismay, the bright
active students who knew so much

about the contours of their local

- geography the flora and fauna

around, were totally at a loss with
the textbook. '

Students ...... ..... the Geography
textbook.

(A) had complete control over
(B) were at a loss with

(C) were hostile to‘

. (D) were indifferent to

P.T.O.
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2. At the practical knowledge of their

world the’ author .............. 1

(A) became highly jealous of the

students -

(B) became suspicious of their

intelligence

© was simply amazed at their
» knowledge

(D) could not react in any manner

The classrooms of the school were.

‘ temporarily partitioned

(B) good enough in number and
quite impfeséi_ve L

(C) three in numbér

(D) none of the above

The!aut_hdr found the atmosphere in

the classrooms ............. _
(A) cah’n and congenial
- (B) hostile and hot
(C) orderly and quiet

() raucous and disordered

AG : 16/P/TI—A

5. At the knowledge of thé young

students, the author ..........

(A) was jubilant at his own

knowledge

(B) was not at all affected in any
‘manner about. his own

knowledge

() becamé aware of his own

ignorance

(D) became aware of hlS scholar-

ship

8. The kind of knowledge that the
pupils had, can be called ............

(A) bookish

(B) ‘WOrthless |

'.(C) driven by ignorance
@ héving practical use

7.  The mutual relationship between the

teacher and the pupils was ...............
(A) led by éus‘picibn .

(@" mutually beneﬂciéﬂ

(%) beneficial to | the | teacher

s (1)) béneﬁcial to the students
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At the practical knowledge of their

world the author ...............

(A) became highly jealous of the

students

(B) became suspicious of their

intelligence

(C) was simply amazed at their |

knowledge -
(D) could not react in any manner

The classrooms of the.school Were

"~ (A) temporarily partitioned

(B) good enough in number and

quite impressive
(C) three in number
(D) none of the above

The author found the atmosphere in

the classrooms .............
(A) calm and congenial
(B) hostile and hbt

(C) orderly and quiet

(D) raucous ‘and disordered

AG : 16/P/II—A

At the k'.nowledge of the ‘young

students, the ‘guthor .o

(A) was jﬁbilant, at his own '
© knowledge '

(B) was not at all affected i.n any

manner about his own

knowledge

- (C) became aware of his own

~ ignorance |

(D) became aware of his scholar-
ship |

The kind of knowledge thaf the
pupils had, can be called ............
(A) bOOkish
(B) worthless
(C) dri‘vérfl by ignorance
(D) having practical use

The mutual relationship between the

teacher and the pupils was .......... et
(A) led by suspicion

(B) mutually beneficial

| © beneﬁéial to the teacher

- (D) beneﬁéial to the students

P.T.0.
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§. The difference in the state of mind '
of the students outside the class and

inside it left the teacher ...........

®' unhappy'

(B) satisfied
- (C) elated
(D) indifferent
Directions (Q. Nos. 9t015) :

Read the passage carefully and
attempt Question Nos. 9 to 15 by
choosing the most appropriate

option :

Reports say that 80 percent of the
people coming bﬁt of India’é_colleges
are unemployable. As one who is in
contact with the young generation,
I would disagrée only with the
figure. Interacting with the youth, '
I can only say that a good 90 percent
are unemployable simply because
they are evasive and irresponsible.
" Somewhere along the line, young
people have started to mistake bad
niannérs for confidence. They do hot'
want to do ax}ything but make a lot

of money.

AG : 16/PIT—A i 6

It is not that théy are useless : most
speak good English and are
conﬁdeht of themselves. They are
aware of the latest ring tones, movies

and jokes. But when one goes a little

'»beyond, they stare at me with dull

eyes. They want to earn a ‘lot of
money’, thanks to the media hype
and salary surveys published
regularly, but they do not have skills
that vslrill‘help them earn that kind

of money.

Their degrees are suspect : ask them
a few questions.on their graduation

subjects and most young people

flounder quickly. As for extra

reading, nobody reads anything of

consequence.

Nearly eighty percent people coming
out the colleges ............

do not have the capability to get

jobs
(B)y will get jobs
(C) will not go into business

(D) none of the above
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The difference in the state of mind
of the students outside the class and

inside it left the teacher ........... '
(A) unhappy‘ |
(B) satisfied

(C) elated

(D) indifferent

o (0. . 99 15): |
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Reports say that 80 percent of the
people coming out of India’s colleges

~are unemployable'. As one who is in

contact with the young generation, |

I would disagree only with the
figure. Interacting with the youth,
I can only say that a good 90 percent

“are unemployable simply becausel .

they are evasive and irresponsible.

Somewhere along‘ the line, young |

people have started to mistake bad
manners for _cqnﬁdence. They do not
want to do anything but make a lot

of money.

AG : 16/P/I1—A

It is not that they are useless : most

- speak good English and are

confident of themselves. They are
aware of the latest ring tones, movies
and jokes. But when one goes a little
beyond, they stare at me with dull
eyes. Théy Wanf to earn a ‘lot of
money’, thanks to the media hype
and ‘salary surveys published
reguiérly, but they do not have skills
that o hélp them earn that kind

of money.

Their de)gree's'are suspect . ask them
a few questions on their graduation
subjects and most young people
flounder quicl;iy. As for extra
reading, nobody reads anything of

consequence.

Nearly eighty percent people cominé

out the colleges .......... 5

(A) do not have the capability to get
jobs

(B) will get jobs

(C) will not go into business
(D) none of the above

P.T.O:
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1. According to author ninety percent

12.

‘ of the youngsters are unemployable

~ because they are .............

(A) evasive and intelligent

‘evasive but irresponsible

(B)

©

D)

irresponsible and evasive

are also wise

Most of them, according-to the

Shiblatnee. ... 5

'(A) cannot speak good English

'(B.) do not have a command over
English |

(C) are not fluent in any foreign |

language :
(D) speak good English
Why do young people want to earn

a lot of money ?

(A) Because they deserve it

(B) Because they are offered very

- "high salaries

@ Because of a kind of hysteria
about it created by the media

(D) Because media does not suppoft
it

AG : 16/P/1I—A

not lacking in responsibility and | -

¥3:

14.

The level of understanding of most
young péople of their; graduation
subjects is ....... s

(A) ui) to the mark _

(B) condemnable

4G praisewo_rfhy'

D) "compre'hensix}e. _

- The authof repoﬂé regarding
: employability of tﬁe graduates.

(A) does not agree with ¢ %

(B fuily égree‘ls With’l. "

(2) part",_ia.ll.ly. diségreés. with

l(D) is dismissive of

According to the ,author‘, 01‘11"

graduates ...i.......L :

- (A) dont do any extra i‘eadingé

(B) dislike reading books
(C) are not capable'of reading

(1Y) do nbt read useful books
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11.

12.
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of the yoﬁngster_s are unemployable

because they are .............
(A) evasive and inteiligent

(B) evasive but irresponsible

(®)

irresponsible and evasive

(D) not lacking in responsibility and

are also wise

Most of them, according ‘to the

authorEREREtu.
(A) cannot speak good English

(B) do not have a command over
English

-(C)- are not fluent in any foreign

language -
(D) speak good English

Why do young people want to earn

* a lot of money ?

(A) Because they deserve it

(B) Because they ar,é offered very

high salaries

(C) Because of a kind of hysteria

about it created by the media

D)
it

AG : 16/P/II—A

Because media does not support |

13.

14.

15.

The level of understanding of most
young people of their graduation

SUJECES 18 ..oouvitsensns
(A) up to the mark

(B) condemnable |

- (C) praiseworthy

(D) comprehensive

The author-............. reports regarding

employability of the graduates.
(A) does not agree with

(B) n.fullyv aérees With ’

(C) partiéliy disaérees with
(D) is dismissive of

According to the author, our

graduates .............

(A) don’t do any extra readings

(B) dislike reading books
(C) are not capable of reading

(D) do not read useftﬂ books

bt Tk



Directions (Q. Nos. 16 t030) :

16.

LV

Fill in the blanks with the
correct option :

If you had worked hard, you

...........

passed.

(A)  would have
(B) had

(C) could

(D) none of the above

your fantastlc ventures.

‘ (A) am

18.

B) had been
(C) was .
D) were

She neéds ..............

time to finish the

 task.

19.

AG :

(A)

(&)
(D)

minimum
more

much
most

to have been
for

Carrier pigeons
used by early humans
communication.

@ are said

(B) heard
() thought

...........

(D) were made

16/P11—A

rich, I would support 'A

10
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1"20: For a long time the earth

93.

be flat.

(A) 1s known

(B) considered

(C) was popular

(M was believed

You have 1t to believe it.

(A) to meet
(B) knowri :
(C) to see
D) had

‘What a nuisance ! Now Il have to

..weee. @gain,’ he exclaimed.

(A) twice

(B) all over

| (C) again and

- (D) willy-nilly

.......

My father has been very ill

last month.

Oy for
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18.

19.
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If you had worked hard, you
passed.

(A) would have
(B) had

(C) could

...........

(D) none of the above

............... rich, I would support
your fantastic ventures.

(A) am
(B) had been -
(C) was
(D) were

She needs
task.

.............. time to finish the

(A) minimum

(B) more
(C) much
(D) most
Carri'er pigeons ........... to have been
used by early humans for

communication.

- (A) are said

(B) heard
(C) thought

(D) were made

11

20.

21.

22,

23.

For a long time the earth
be flat.

----------

(A) is known
(B) considered
(C) was popular
(D) was believed

You have it to believe it.

(A) to meet
(B) known |
(C) to see
(D) had

‘What a nuisance ! Now Il have to
........ .. again, he exclaimed.
(A) twice

(B) ali over

(C) -again and |

D) willy-nilly

My father has been very ill

last month.

(A) for

(B) from

(C) since

(D) in
P.T.O.



24. How

25.

26.

...........

railway station ?
() do

(B) far

(C) must

(D) soon

The Vision

I get from here to the

Uneasy Hes the head that ........... the

crown.

q.((A) triesv

(B) puts on
) éhoosés

(D) wears

know.

(A) refuse

" (B) refused

(C) would refuse

‘(D) can refﬁse

AG : 16/PTI—A"

.................

please let me

12

21.

28.

30.

Gentlemen, let’s arrive .

conclusion.
(A) on

(B). over
@ at

(D) around

I brought my papers, but nobody

(A) has been there to verify
(B) bothers about
(C) Aesires to check ,

1) cared to see

D), ol I come for the interview if

you don’t get a call.
(A) will not |
(B) r)ukght not

(Cy needrft v

(D) daren’t

are all your so called friends

(A). Who
(B) Which



25.

26.

railway station ?
(A) do

(B) far

(C) must

(D) soon

I get from here to'the

Uneasy lies the head that ...... the

crown. -
(A) tries

(B) puts on
(C) chooses

(D) wears

(A) refﬁse_

(B) refused

(C) would refuse

(D) can refuse

AG : 16/P/I—A

.................

please let me

The Vision

217.

28.

29.

30.

13-

Gentlemen, let’s arrive

conclusion.
(A) on
(B) over
(C) at
D) around

I brought my papers, but nobody

(A) has beeﬁ there to verify
(B) bothers about

(C) desires to check

(D) cared to see

YoUs..qni comie for the interview if -

you don’t get a call.
A) will not
(B) ought not

(C) needn’t

(D) daren’t

are all your sa called friends

----------

(B) Which
(C) How

(D) Whefe |
P.T.O.



The Vision

31. How many numbers between 300 | 34. Ram, Abdul and Kiran start walking

'32.

33.

and 1000 are divisible by 7 and 8
both ? s

- (A) 8

B) 9
(). 12
(D) 17

What is the sum of the following

series ?

& 1 1
+—t—t .+ + o ?
28 ~34 nln +1)
(A). 0
(B)l

2
€)1
D) «

Aditya travelled a disf_ance of 80 km

in 12 hours. He covered a part of
the distance on a bicycle at the rate
of 6 km/hour and a part on a scooter

at the rate of 14 km/hour. How
much distance did he travel on

bicycle ?

(A) 66 km
(B) 56 km
(C) 46 km
(D) 76 km

AG : 16/P/II—A

- 35.

14

together and their steps measure

42 cm, 45 cm and 40 cm

“ respectively. What is the minimum

distance each should walk so that
each can cover the same distance in

complete steps ?
(A) 20 m 10 cm
(B) 25 m 20 cm
(C) 22 m 2 0 cm
D) 21 m 10 cm

Thfee years ago, the average age of
a family of 5 members was 17 yeafs.

A baby having been born, the

‘average age of family is the same

foday. What is the age of the

baby ?

(A) 1 year

(B) 1.5 years

() 2 years

(D) 2.5 years-
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D) 17 -
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(A) 66 m”r
(B) 56 fl
(C) 46 Tt
(D) 76 Tt

AG : 16/PII—A
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34.

35.
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(D) 21 %t 10 &
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ﬁﬁmargwaﬁ%waﬁ%

,w?mvﬁwﬁaﬁw EIRECIE
ot S E R W g e @) S

T ?

(A) 1o
®) 15
(C) -2 3¢

(D) 2.5 =

“P.T.0.
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If in an examination, 63% of the

candidates passed in English, 65%
in Mathematics and 27% failed in
both subjects, what is the pass

percentage ?
(A) 45%
(B) 37%
(C) 35%
@) 56%

A certain number of books were
purchased for Rs. 300. Five more
books could have been purchased in

the same amount, if each book was

cheaper by Rs. 10. The total number
- of books purchased are :

INES
(B) 10
(©) 12
D) 6

. If 3 men or 6 women can do a piece

of work in 16 days, in how many

~ days can 12 men and 8 women do

the same piece of work ?

(A) 3 days

' (B) 4 days
(C) 7 days

(D) 8 days

AG : 16/PII—A

16

39.

49.

| 41

In an ‘army camp, 45 déys food is
available for 50 soldiers, then how

many days will this food sufficient
for 75 soldiers ?

(A) 25 days

B) 30 days

(C) 35 days

(D) 40 days

Deepak purchaséd 25 tabies for
Rs. 12,500 and recoveréd the cost by
selling 14 tables. What is the gain
percentage ? y

(A) 30%

(B} 78.5%

(C) 50.5%

D) 56%

Ram and Mohan can finish a plece
of work i,n‘ 18 days, Mohan and
Abdul in 24 days, and Ram and
Abdul in 36 days. In what time
can they finish i all working
together ? ‘ ’

(A) 12 days -
(B) 16 days
(C) 18 days
(D) 20 days
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e T W ¥ 63% wadrt st
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27% <1 fawdi # 1ol gU, o /o
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(A) 45%

(B) 37%

(C) 35%

(D) ,
w9 s 300 T8 # BRI T | g
2 % # 5 3 fare Tier S gt
of I Fedeh ferdrsl =t HAd 10 T4
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(A) 8

95%

(B) 10

C) 12

(D) 6 ,

Ifc 3 IeW 3Fa 6 Tl T & H
16 ot # X Wehd €, @ 12 & 3R
8 el gl wm i fher fofi &
THd § 7 -

(A) 3 fea

(B)}4TT—I

(C) 7T

(D) 8 fe

AG : 16/P/II—A

39.
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(A) 25 fea
(B) 30 f&
(C) 35 f

(D) 40 fed

40, 9% 3 25 A9 12,500 9 # whHT |

41.

17

S A qod %d 14 HSi Sl "

CH YT R A Y & giavE @

g2
(A)_30%

(B) 785%
- (0) 50.5%

D) 56%

9 3R AT T %W w1 18 feA i H,
g iR otega 24 fei §, e W IR
e 36 fedl ¥ X wwa 1 A
TeteRt 38t T Al Tohaq fel 7 2 9hd
g ?

(A) 12 T

(B) 16 &

(C) 18 f&A

(D) 20 fga

P&
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If Nishant walks at 5 km/hour, he

misses his bus by 3 minutes, and if
he walks at 6 km/hour, he reaches
the bus stop 3 minutes too early.
How far is the bus stop from his
place ?

(A) 2 km

(B 4km

(C) 3 km
D) 5 km
A table cover of size 3.5 m x 1.5 m
is spread on a table. If 25 cm table

cover is hanging all round the table,
then what is the cost of polishing

- the top of the table at Rs. 50 per

m2 ? -
(A) Rs. 100

(B) Rs. 150

(C) Rs. 200

(D) Rs. 250

30 books are placed at random in
a shelf. What is the probability that
a particular pair of books are never
together ? '

1
=
29
30
14
15
D 0

(A)

(B)

(C)
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45.

46.

47.

Out of five Mathematicians and six
economists a committee con§isting of
three Mathematicians and two
economists is to be formed. How
many different committees can
be formed if two particular
Mathematicians must be on the

committee ?
(A) 30 ways
(B) 35 ways
(C) 40 ways
®) 45 ways

Which of the following equalities is

not correct ?
(A) A-C)n(B-0)=
‘ (AnB)-C
B) A-B=AnB
(€) (A-B)UB=A iff Bc A
D) AnBUC)=(ANB)
N(ANCQC)

If the lengths of the diagonal of a
kite is 16 cm and 18 cm respectively,
then what is the area of the kite ?

(A) 72 cm?
(B) 36 cm?
7C) 144 cm?
(D) 34 cm?
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- 43.

44.
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afg frema 5 foedt 9fa =+ = @

| T R, W IHH 99 IS T D 3

fofe weel g W ¥ A 5w 6 foRelt
9fd W2 F O W TAd &, A 9% a9
T ¥ 3 e v W s 31 swe
WY 9 = fFE gy 2
(A) 2 &t

(B) 4 fo

(C) 3 fosit

(D) 5 fot

35 W x 1.5 W & aTR &7 Fea
TF W9 W fowr W R AN & ant
R 25 T T @RI 50 7 e
1 HieX 1 X W A F T8 * Wi
FH A fEam = amm 2 '
(A) 100 ¥

(B) 150 ¥93

(C) 200 ¥9

(D) 250 T9

30 a1 T Ve # ageow @l g
€13 T g Forae @ we-gy 7 o
it Wiakar frat @ 2

<3

15

29

30

14

15

D) 0

(B)
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45.

46.

47.

o TR @R B arefenfort § ¥ 9
TR TR Y SrefeneR # u wihfy
&1 T fohan S §1 et foret -
f=1 wfufeel o o1 9ot § 9fe
T g M R wfafy #§ o
F e & 2

(A) 30

(B) 35

(C) 40

(D) 45
= 4 8 St g @ T8 € 2
(A A-C)n(B-0)=

(AnB)-C
(B) AfB='Am'B’

(©) A-B)UB=A & ik 39
Bl BcA

D) AnBuC)=(ANB)

N(ANQC
I Th o & fahuil 1 o s
16 ¥ 3R 18 ¥ &, & 39 T 3y
§IFe forar am 2

(A) 72 o et
(B) 36 T At
(C) 144 = ot

(D) 34 i &eft P.T.0.
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The perimeters of two similar
triangles A PQR and A EFG are
39 c¢cm and 26 cm respectively. If
EF = 15 cm, then what is the

measure of PQ ?
(A) 19.5 cm

(B) 22.5 cm

(C) 25 cm

(D) 26 ém

if average of a, b, ¢ is M and
ab + bc + ca = 0, then average of
a?, bz, ¢ will be :

(A) M2
(B) 4M2
(©) 3M2
(D) 5M2

Anand buys a house and gives for
it 20 times the annual rent. What
rate of interest does he get for his

money ?
(A) 4%
(B) 5%
© %
(D) 8%

AG : 16/P/11—A

| 51. A case of sexual harassment against

20

52.

one of your staffs came to you. Media
people approach you to tell them
about the case. As a head of the

office, you will :

(A) disclose the details to inedia

(B)

ask them to come on another

day

C explain them that the case was
under investigation and you

could not divulge the details

D)

consult your superior

In a univérsity, you appeared for a
position in teaching. You have not
performed well but your friend with
low marks at masters’ level got

appointed. Then :

(A) You will get angry with the

university

(B) You will file an RTI to know the

marks awarded in the interview
(C) You will fight with your friend

(D) You will prepare well for the
next interview by analyzing

what went wrong
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< gufd s A PQR 3R A EFG
% Uity wAe: 39 ¥ 3R 26 T T
gfc EF = 15 91 &, @ PQ & M
F1 B ?

(A) 19.5 T
(B) 22.5 §Ht
(C) 25 |t
(D) 26 §Hi

afe a, b, ¢ F*3Wd M & T ab +
bc+ca=0€f,?ﬁa2,b2,c2$T3ﬁ'Hﬁ
M 'm 7

(A) M?
(B) 4M?
(C) 3M?
(D) 5M?

AR TH W @S § 55! A 39
M R A amet Fre T i 20
T ¥ S8 9 v R W W A
am 2

(A) 4%
(B) 5%
C) 7%

(D) 8%
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52.

3 FIE & fmd) e & faars
AT 31 A | T g | e
& AN Y 99 39 A &% aR H
TS A T HEEE & 1Ay & N
I
(A) 9 Uy WS HWifear &
=l
(B) 3= 3 forddt feq1 o & fow e
(C) S= Hell T It 1 Sii" =a W@
¥ 3R o 3 fawa § g 7w
Hend '
(D) 91 S=u fuemiEdl 9 9o o
3 T fovafaemem | fees & 9
T Wl @ fAT waTeRR fe T Se
a=al genid A8l fean dfes s@
HeTehR § 9 U 3 &1, fSas
M.Sc. § &9 % &, T4 & T

A

(A) 39 favafaeme™ @ AR & SEN

(B) M4 ol & 3IfewR 1 FA
TaeRR # e 37 S & fou
FHA

(C) 3 o oy | e HA

(D) 39 fUsat srqva 1 fagarsmn &
T ST TR & T &

Pl
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53. You are the Principal of a college

and one should complete 18 years
of age to get admission in your
-college. The son of the college
chairman has completed 17 years 11

months. In this case :

(A) you will admit him in the

college

(B) you will ask the chairman to

take back his son’s application

® you will reject his application
for admission as the rule applies
to all

(D) edit the age as 18 and admit
him '

If you are a paper setter for a

competitive examination and your

friend’s son is appearing for the same

examination, then :

(A) you will suggest him books he
should study

(B) you will give him important

questions

(@) you will keep the examination

work completely confidential

(D) you will give him all the

questions you have set

AG : 16/P/II—A
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96.

v 55. You want to registér a land deed,

a subordinate of the registrar calls
you and asks unnecessary questions
about the land, implying a bribe is

needed. In such a case, you will :

(A) give britbe and get the

registration done

(B) ignore him

- (C) go and register on another day

complain to the registrar
g

You are the manager of a factory
which witnesses an accidental death
a worker one day. Being the

manager, you should :

(A) ask the other workers and staff
of the factory to keep quiet over

the issue

(B) offer big compensation to the
family of the worker to keep

their mouth shut

immediately call the police to
initiate a probe and take care
of the law and order of the
factory

(D)

consult your seniors and wait

for their response
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319 T HEIfed & W= § wef efes)

% fau B & =gAaw o9 18 ad g

mlmﬁﬁaﬁ?%éﬁﬁ

dqg 17 9% 11 9% &1 W@ H .

(A) msﬁmf@wééﬁ

(B) &9 ==REA 1 U9 9 H oTSA
a9 o T ST H

(C) 9 e &t 7Sl @i &t o9
Fiifh 20 o o 999 29 ©

(D) =1 311g 18 ¥ fowen + qrferen
T

e AM UH TiaArn gden & gy

TR & ® € i ems = fo3

921 I T B uF ufeEnh g 9

(A) 9 939 & 92 1 319 1 3
fau gt 1 game

(B) o9 a3 & &2 =+ wewgl yed
A

(C) @9 wdien wfshan =1 gofa: Mo
@

(D) o I f A W W e

TSNS o W Ry ¥
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55.

56.

Y T g &1 S HE Tm §
T WRR & TF A gu A
AR SAATIH T IS 5 & I b
foaa =1 41 %1 390 W @ ¥ o=
feafq § a1y .

(A) Rvad et o9 SAmm w0 o
(B) 3 =afed &1 =l W AW 79 &
(C) ST A o e et @i ferm o
(D) MSRR *1 gHHt Rrebma i

A Th BRI & Joruss & foed

- T we & uw gHe § gy @

TRt Yerye @ efaud ¥ e .

(A) TR Tt B & wd=RE &R
AU HI T HSA 1w wE

W |

(B) 7% & URSH 1 T & e
FT G T I T He 5 @
H HEN

(C) T I & T aqifes Ao
W W B T SR E H A
R o ®

(D) 3197 IRe3t ¥ Ferrg /i SR 39
SAE M H TSR HAT

P.T.O.
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During a movie show, a wire starts
showing sparks in the cinema hall.
You are the manager of the cinema
hall. In such a situation, you will

first :
(A) call the fire brigade
(B) call the police

(C) ask the audience to calm down

and not cause stampede

@))} switch off the mains and ask
security to open the emergency

exit gates immediately

A hijacked plane had to have an
emergency landing at an airport.
There are more than 300 passengers
in the plane whose lives are at risk.
Being the air traffic controller, you

will :

@ ask for the demands of the
hijackers and convey their

demands to your seniors

(B) go and try to meet the

passengers to console them
(C) wait for hijacker’s next move

(D) try to make sure that the plane
does not take off that airport to

enter another country
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" 59. A criminal murdered a man’s wife
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60.

and two children brutally and hence

ruined his entire life. The apex court

counted the crime as the rarest of
the rare case and sentenced capital
punishment for the accused. The

President of the nation received a

mercy petition from the convict with

a report that €aid that the convict,

in past couple of years had shown

good morals and signs of sincerity.

Still the President retained the

capital punishment. What do you

think the reason could have been to
retain the punishment ?

(A) The conviction was given by the
apex court and it had to be
retained
Showing too much mercy is not
good for a President

' One of the objectives of a
punishment is to cater to the
feeling of revenge of the victim
The justice system should keep
on delivering death penalties to
fear the criminals

USA has a policy of not entertaining

demands of abductors. You are the

President of the USA and this time

militants have abducted a close

relative of the defence minister.

What shall you be doing ?

(A) Negotiate this time with

abductors

(B) Ask your minister to resign

(C) Take a referendum from the

citizens of the state

(D) Stick to the policy of the state

as in long-run. This discourages
anti-social elements to involve
in abduction-ransom business

D)
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62.
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Assertiveness means :

f(A) Expressing your thoughts,

emotions, beliefs and opinions

in an honest and appropriate

way -

(B) Being correct according to

oneself

©)

Being correct according to

others
(D) None of the above

When an organization thinks its
audience will be interested in what
they have to say or willing to

cooperate, it usually opts for :

(A) Indirect approach -

(B) Neutral approach

(C) Direct approach

(D) Modern approach

Noise in communication deals with :
(A) Complicated Jargon

(B) Inattention

(C) Disinterest

(D) All of the above

AG : 16/P/TI—A
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64. A listener is concentrating on the

| 65.

appearance and delivery style of the
speaker instead of the subject. In
this vcas.e, the barrier to listening
is :

(A) Jumping to conclusions

(B) Pre-judging subject

) Wrong focus

(D) Gathering only facts

Leadership roles first emerge in
which of the following kinds of

communication ?
(A) Interpersonal communication

(B) Small group communication

@ Face-to-face public communi-

cation

(D) Media-like cell phones and

instant messenger
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67.

The Vision

Which of the following is an example

of mediated communication ?

Students work on a class

assignment togethér

(B) Two friends talking with one

" another

(C) A newsreader delivers the
primetime report on the eight

o’clock news
(D) All of the above

The physical objects surrounding a

person, that indicate to others a

person’s personal and social beliefs

" and habits is called :

(A) Phonemes
(B)_ Artifacts
(C) Syntax

(D) All of the above

AG : 16/P/II—A
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68.

69.

70.

Another name for critical listening
is :

(A) Therapeutic Listening

(B) Discriminative Listening

(C) Empathetic Listening

(D) Evaluative Listening

............. studies the ways in which

context contributes to meaning.
@ Pragmatics

(B) Syntax

(C) Semantics

(D) None of the above

Dyadic communication is also known

as :
(A) Mass Communication

(B) Interpersonal Communication
(C) Virtual Communication

(D) All of the above
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66. ﬁﬂﬁﬁnwwmﬁaRm@W
g
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"""""

% weah ¥
(A) et
(B) FHemgfm

(C) I=™

(D) Sugs Wit
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| 68. W@yl g H fRW SR AW § S

S g ?
(A) SRR G
(B) ﬂaww
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7. What is the value of X in the | Directions (for Q. Nos. 74 to 78) :

matrix ?
_ Given the following information.
15 20 16 % g Answer the problems :
A - B : A is father of B.
17.-16 " 187
v A + B : A is daughter of B.
12 19 X
: A + B: Ais son of B.
,@) 20 A x B : A is wife of B.
L 74. How is P related to T in the
(©) 22 expression P + 5 - T ?
D) 23 (B) sister
72. In a certain code “MATHE- :
MATICS” is written as “MAEMICS- |-~ (B) wife
'.I‘HA ”. How is “PHYSICS” written ) @
in that code ? R
(A) PHICYSS | - 7re |
(B) PHICSYS 75. In the expression ‘P x Q — T°, how
D) PHYICSS (A daughter
73. Nisha walks 25 metres towards west, (B) son
then turns to her right and walks
15 metres and turns to her left and © mother
walks 12 metres. Again turning to (D) father-in-law

her left, she walks 15 metres. What i
is the shortest distance between her | 76. Which one of the following means

starting point and the present T is wife of P ?
position ? ‘

A) PxS+TX
(A) 10 metres
37 metres (B) P+SxTAR
(C) 14 metres | (C)P-S=+T
(D) 16 metres M P+T=8S

AG : 16/P11—A 30
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frfafeq seRAXFMAAFRIE ?

15 20 16

17 16 18]?

12 ¥ X

(A) 20
(B) 21
(C) 22
(D) 23

& fAfy=a e § “MATHEMATICS”
F “MAEMICSTHAT” feren mn g | 58t
Hie H “PHYSICS” ! 41 o ?

(A) PHICYSS
(B) PHICSYS
(C) PHIYCSS
(D) PHYICSS

fem ufem =1 3R 25 Hier Fad 7,
9% gt 3R g 15 HieX Jawdl ¢ 1 98
S W 3R g 12 HieR Ferd
fiRe 9% Rl TWE qEH 15 He =ewd
T SEs yRityes fag oI adAm forg &
= F 2w g = e 2

(A) 10 TR

(B) 37 Hex

(C) 14 WX
(D) 16 HX
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39T (W9 w. 74 | 78)

4.

X
- grefea § 7

76.

frefafiaa sTeRrt & e W wl
& I G

A -B: A B = frmm ®

A, B & T B

A, B &1 97 T

A x B:A, B & ul R
gfeafe P+ S-THPH T
N G 7 O?

A+ B:
A+ B:

(A) T

(B) gl

(C) =

(D) i -
afﬁaqﬁﬁ‘PxQ_T’ﬁ,T,Pﬁ%@

A) T
(B) T

(C) Hran

(D) xR
ﬂ%ﬁﬁ@ﬁwﬁﬁ@aﬁﬂ@ﬁm’
FAdETFET, P A T §?
A) PxS=+T

B) P+SxT
C)P-S=+T
O P+T=S8

P.T.O.
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74. Which of the following means P is

19,

80.

maternal grandson of S ?

A P+Q-s XK

B) P+ QxS+t

(C) P+Q+S

M PxQ+S =

In the expression ‘P + Q x T’, how
is T related to P ?

- (A) Mother -

(B) Father:
(C) Son
D) Brother

If P means x; Q means +, R means
+ and S means —, then what

1s the value of expression
‘154Q14S7P3R25’ ?

&) 15
(B) 25
© 35 .
(D) 42

If 1st January, 2004 is Thursday,
then 31st December, 2005 will
be :

(A) Monday
(B) Tuesday
@) Friday

(1J) Saturday

AG : 16/P/II—A
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82.

83.

84.

What is the value of B in the series
0, 2,6, 12, B, 30, 42 ?

(A) 16

(B) 20

(C) 24

D) 28

Coherent : Consistent :: Irate : ?
(A) Angry '

(B) Unreasonable

(®) Unhappy

(D) Irritated

Statements : | |

Some pictures are frames.
Some frames are idols.

All idols are curtains.
Conclusion : |

(I)* Some curtains are pictufes.
(II) Some curtains are frames.
(ITII) Some idols are frames.

(A) Only (I) and (II) .follow
(B) Only (I) and (III) follow
(C) Only (I) and (III) follow
(D) All (I), (IT) and (III) follow

In which of the following letter
sequences, two letters in the
alphabet are skipped after an odd
position and three letters are skipped

after an even position ?
(AY DGKNRU

(B) EILPSW
(C) KNRVYC
(D) LPSWZC
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77, R el et D R e

FAf T E P, S B O} 2
A P+Q-S Gt
B P+QxS8S
CP:+Q+8S
M) PxQ=+S
78 A P+ QxT HFTH P I
M =Y ¢ ? s -
(A) "m
B fm
©C) g
L @) wE O |
19. R P wwe x, Q I Wi =, R
1T + SR S 1 e — 9 iy |
154Q14S7P3R25* 1 BN F & 2
(A) 15 vioh sty e
®) 25
) 35
D) 42 - e ,
80.‘wﬁ'.1aﬁaﬁ-2004ﬁw%,'aa 31
fewmRr, 2005 # # fm @m o2
(W) R A
(B) HTER
(©) TR
D) AFER
33
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81.

82.

83. : |
@ wm g
%P B g §
.t g7 W ®

g9t 0, 2, 6, 12, B, 30, 42 ¥ B =
AR 7

(A) 16

“(B) 20

(©) 24
(B) 28:0
o ¢ frafed o w2

(A) &

(B) s v
(©) gt

(D) fogfagr

O

Freepst o _
(D %8 We o

(D) T W BE §

- (D% T %9 ¥

84.

(A) =aa () 3R 1I) 30

‘(B) wad (1) X (II1) ama
(C) #aa () 3R (1) s

(D) |4 (1), (1) 3R (TH) azﬁﬁ'
151 4 9 for s1er e § fow e

SN E I L R o

qH S1ER Brea ‘ﬁ?ﬂanﬁ%?

" (A) DGKNRU

(B) EILPSW

(C) KNRVYC
- (D) LPSWZzC

PG
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85. In a group of intellectuals, A is the .

set of scientists, B is the set of writers
and C is the set of those intellectuals
who drink coffee. A, B-and C are
given by the fdllowing Venn-
diagram. Which one of the

conclusions is not correct ?

&

(A) All scientists drink coffee

@) All writers who drink coffee a>re».

scientists
(C) Some writers do not drink coffee
- (D) Some scientists are not writers

86. Consider the statements : _
(A) The metallic frame of a cycle
‘rickshaw is made .of hollow

shafts.

(R) A hollow shaft is stronger
than solid shaft of the same
mass.

Then :

(A) Both (A) and (R) are true and
(R) is the correct explanation for
(A) . -

(B) Both (A) and (R) are true but
(R) is not ,the correct
explanation of (A)

(C) (A) is true but (R)-is not

(D) Both (A) and (R) are false

: 16/P/II—A
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87. ® |V ® Y A VY
® v A ® B R
Q. - "V v _In B0
L @ @ 4) (5)
Which figure comes next in the
above series ? . :
® v v A P 1 A
©] R 16 ® :
v U Q Yl |G \Y
w o® @© w
88. 0 '
X2 [®
(1) (2) 3) (4)

Figure 4 is related to figure 3 in the
* same manner figure 2 is related to
figure 1. Which figure should appear

in box 3 ? |
D|D||D

B (D)
89. How many rectangles are there in
the following figure ?

PN

(K) 9 ©6 M5

® 8
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85. Sfgsiiferdi & Tk THe § A dTFmR ok

B <Rl 1 9= 1 A C 9t wie
W e 1 W @ iR A, B @9

wwﬁmmﬁwaﬁ@@ﬁmw
3, ﬁw@ﬁwﬁwﬁvﬁ?ﬁ% 2

O

(A) T ST wTRr dR F
(B) Wit w1 R o wve S
(©) %5 JE@F FE T T

(D) %B oW+ oEw @ 5
ﬁnmaﬁaﬁwmw ﬁ'—rmﬁlm
@ T ?

86.

mﬁmﬁmﬁwmﬁ@'

J T B
(R) @ierell B8 6 3 a1l 39
BT ¥ iy HoEg o &
LERE: : '

(A) % for W e ¥
(B) (A) 3R (R) T wear ¥ Bife (R),

" (A).%.mﬂéwmﬂﬁ%"‘

(€) (A) ¥ § dfed (R) e
D) (&) T (R) T oG §

AG : 16/P/TI—A

&) &) ¥R ®) I v ¥ o (R),

1)

®
@ A
(O O] (ARG T [ ] I O] :
(1) A2) .. (@ 4)B)
S 1 ST BT STTAT Y&, Shie Fast 2 2

a A

Vv A AV AN

87. ,‘®

B 5. M

lo
(D)

&

oA B )
fo= 4, fot 39 3%y waifer § form
¥R o= 2, fof 1§ weifea §1 st
3 # #imn fast sm@m 2

\4

SIEIEIE]
SRR AR
A B (C) (D)

- 89. =1 o § a1 fopem oo ¥ 2

W9 ®8 ©6 M5

e i 42K



90.‘ s ean

. Which of ‘the figures below is the

mirror image of above clock ?

5

((a)

(B)

: ‘

AG : 16/P/1I—A
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91. A square shaped paper is fold and
cut as shown in the following
figure. Which of the given options -

resembles most the unfolded

one ? |
/k; : E Oﬁ',
s o
RO}
. (A) [°
OO
B0 0
(o] 0
© |
OO
(D) (6] (o]
(®) @)

36 .
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90.

/= 4 9 a9 3fd I & i ud
1 gfafas § 2

(A)

(B)

©)

(D)
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91. @aﬂmmﬁﬁaﬁmﬂﬁﬁr
'ﬁﬁ@amm%lﬁﬁﬁﬁmv
" q 9§ i foshed FAs 1 I Ser

S S

/k; ;-- - (e} '
R B ©

A) |©

B) | o o

(0 I

(D)

P.T.O.
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The following graph displays the consumption of two different chemicals A and B
ina pharmaceutlcal 1ndustry Answer questiqn Nos. 92-96 by studying the graph.

A

® Chemical A
] Chemical B

Consumption (in multilples of 100 kg)

|
1
| I
,_ "
| | |
1 1 1
- - -
[} | 1
| | |
1 1 1
- r =F
| | | i I
1 | A | I 1
= . ENW T =it ]
I I | ] |
i 1 | i 1
1 ] A 1 | S
| I I = I | R =
2012 2013 2014 2015 2016
Years @5

92. In Wh1ch year the consumptlon of

94. At what percentage the consump-
B has reduced from the previous : b o

¥ ;
Fear : tion of A has decreased in 2016
(A) 2012 ‘ '

(B) 2013 : - compared to 2015 ?

(C) 2014 : | L :

D) 2015-5° o (A) 20%

93. In how many years consumption of
B has been below the consumption

of A ? T ; ‘ (B) 40%

@A) 1 ” , E3EN
@) 2 ' __(‘C) 33%

©) 3 |

D) 4 - '_ | D) 30%

AG : 16/PMI—A - L ag
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ﬁﬁﬁﬁ@wwﬁaﬁmaﬁﬁwﬁAaBﬁwwﬁﬂé

€| TEH AT FH WA F. 92-96 F I AN

® THITA
OB

ECaER:|
2

(E 201 —coli=-ee— L PR Tue e — - — -
B : : :
& 158 ————d— - _Noq2in/ s 7 S S
(=) I I 1
S | I I
ol LN A— R bt e 2 LT,
| I I I |
_ 1 | i | o
g = 1 -~ e e |
| i I 1 |
1 I I I |
| 5 2 : + e
Bl e a 20l 2014 2015 2016
92. forg o # fowdt oo ) qorn § @A | o .
B % @y 5% 2 | 94. 2016&2015_3#@631131&%%@3
) 2012 # et RO R A o 2
(B) 2013
(D) 2015

93WWﬁBﬁWAﬁW@ (B) 40%
FTMWR 2. Y

B ©) 33%
B 2 :
(€C) 8
| D) 30%
D) 4
AG : 16/PTI—A 39
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95. In which year had the combined .

consumption of A and B been

minimal ?
(A) 2012
(B) 2013 -
(C) 2014

(D) 2016

96. From which year to which year the

consumption of B did not observe a

descent ?.

(A) 2012-2016
(B) 2012-2015 |
(€) 2013-2016

M) 2012-2014

The following bar diagram displays imnort of fabric and export of dress material

of a company. Answer the question Nos. 97-100 by studying the diagram 4

A

—> Iinport
2 304 —> Export |
.-
5 o5
2 20t 7
2 15+ | ?
: 7 % o
fuf ‘BEZREZ
] - ot
| ) 7 o ]
1 )
5 o ] “ 2
ZilZEZEnZae
2012 2013 2015 :

2014
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95.ﬁaﬁﬁAaﬂ1Baﬁwﬁﬁ 96. forw od ¥ fow oo g% B =1 figee
o @ 2| & @ wh
(A) 2012 | / (A) 2012-2016
(B) 2013 (B) 20122015
(C) 2014 Y (C‘) 2013-2016
D) 2016 B (D) 2012-2014

R e R T e apma Gy S S

Tl SHE TTET WD UYT . 97-100 B SR T

—> AT
w 30T % g >
K
ZE 251
' 201
| ¢
2 o 5
101 > 2 [~
2] v |7
A ] - %
s+ —Ed | RN
ZRRYZ ZRRZI
2012 2013 | ‘2014 | 2015
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¥7. In which year company did not make

any profit or loss ?
(A) 2012
(B) 2013
© 2014
(M) 2015

98. Which yeai' was the worst for dress

material business ?
(A). 2012-
(B) 2013
q(©) 2014

D) 2015

AG : 16/P/[TI—A
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79. What was the maximum percentage

profit of the company ?
‘A) 100%

(B) 200%

ACy 50%

(D) 13..,3%

100. The maximum sale amount of the

dress material is.:

(A) 10 million rupees
(B) 15 million rilpées
{C) 20 million rupees

(D) 25 million rupees



; The Vision

97. f&g ¢ woE aﬁﬁﬁé it ey = 7
e 7
.(A) 2012
®) 2013
(C) 2014
(D) 2015
98. HFEl I8 HYS & AR & oL wﬁ
e
(A) 2012
(B) 2013

(C) 2014

(D) 2015

AG : 16/P/1I—A
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99. Tl T e W M

(1;&) 100%
(B) 200%
(©) 50%
."(D) 13.3%
109.3:%? gl aqfw ﬁww% :
| (A) 1@6 w3
(B) 1.5 #E T
© 2 W T

(D) 2.5 wS *W

Pox.
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